TRUSS

TR

HW

FT

6’ Steel Truss

Standard Material
Standard Finish
Available Finish(es)
Bolt Hole Size

Recommended
Hardware

Recommended Tools

Part #
MT-TR-06-06-006-ST
MT-TR-06-06-012-ST
MT-TR-06-06-024-ST
MT-TR-06-06-036-ST
MT-TR-06-06-048-ST
MT-TR-06-06-060-ST
MT-TR-06-06-072-ST
MT-TR-06-06-084-ST
MT-TR-06-06-096-ST
MT-TR-06-06-108-ST
MT-TR-06-06-120-ST

MT-TR-06-06-XXX-ST

gagoruaaa

o

o

T |
s
7ﬁ§§§
B el |k |z

A36 Low Carbon Steel
25- Silver Powder Coated
20-30 Powder Coated

11/16" (17.46mm)

5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread,
Grade 8 Hex Nut | (M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9
Washer | M16 x 2 Thread, Class 10.9 Nut)

Tool Kit 1

Size

6" X 6" x 6" (152.40mm x 152.40mm x 152.40mm)

6" x 6" x 12" (152.40mm x 152.40mm x 304.80mm)

6" x 6" x 24" (152.40mm x 152.40mm x 609.60mm)

6" x 6" x 36" (152.40mm x 152.40mm x 914.40mm)
6" x 6" x 48" (152.40mm x 152.40mm x 1219.20mm)
6" x 6" x 60" (152.40mm x 152.40mm x 1524.00mm)
6" x 6" x 72" (152.40mm x 152.40mm x 1828.80mm)
6" x 6" x 84" (152.40mm x 152.40mm x 2133.60mm)
6" X 6" x 96" (152.40mm x 152.40mm x 2438.40mm)
6" x 6" x 108" (152.40mm x 152.40mm x 2743.20mm)
6" x 6" x 120" (152.40mm x 152.40mm x 3048.00mm)

® () @ ©

In Stock Serialized & Made To
Traceable Order

Compatible

muoooooaoag

Eoooocooooooy

Cooooooooooooy

(_J ModTruss

Coououoooooonooosol

CUooooouooooouoagyg)

Coooooooooooooayg

Weight
6.50lbs (2.95kg)
11.40lbs (5.17kg)
20.95Ibs (9.50kg)

30.50lbs (13.83kg)
39.85Ibs (18.08kg)
49.25lbs (22.34kg)
58.80Ibs (26.67kg)
68.40Ibs (31.03kg)
77.80Ibs (35.29kg)
87.25Ibs (39.58kg)
96.95Ibs (43.98kg)



o

(2 ModTruss

()

2 <X | 2| T|(<|V 0V U| 2| x| IT|-]|-
SSNYL - W o =S|l S| <\ T =0
1S-XXX-90-90-dL- LW . .
927 9] [0z'9/]
SSNAL 133LS .9%.9 s T e we
@ ] % L0 03 00 U0 0 L
wimesragiesy |- SSNALPON L. | N 009 N A QB AR OO O
1502 1-90-90-3L-1W To.m& | FM%M; ﬁ_m..w_m 1 ﬁoom%mg
15-801-90-90-dL-LW 67'¢ [ov£1]
15-960-90-90-41-IW 69

1S-¥80-90-90-d1-IW
1S-¢£0-90-90-d1-IW
1S-090-90-90-dL-IW
1S-8¥0-90-90-d1-IW
1S-9€0-90-90-d1-IW

1S-¥20-90-90-dL-IW
1S-¢10-90-920-dL-IW
1S-900-90-20-d1-IW .
lorzsl] . [0870€]
_‘ 009 00¢l
g :
m i [09°609] Q
00ve [ovy16]
i 009s  [0T'6121]

k 00'8¥

SO0

[00v2sL]
0009

[08'8281]
002/

Boooooon

[09¢e1T]
00yg  [8S L]
€196 [0zevLT]
00801 [00°8¥0¢]
000z 1

[sIsiciciciciciolole

Cooooopoooon

CIsIcIcIcIcIvIcIcIoleiololn

[eIsisIcivicicicicicicIcIololole!

SOOOBOOOOO88COOOO080 8
CIcIcIcICIcIcIcIcIoIoleIsIsIsIoIole!




